% IR A

( ;‘77‘;@7}&‘4%\ %‘u%\)



2024 F ERIT A ¥ 56264 (&4 FEa) -F (23) F#

EBEHZBE (2022

—. NMH&

1, ) 24— MR V A S EATEAR,  RI 2S48 R
FRERMSNZ O R mE?

fft: BRFEZ MR 4208 R, oy H, BRI S (RRRA

2D

) 5] 4 A AR V=mR?H H= H—;
|5 A T TR AR S = 2nR? + 2nRH
S =2mR% + %
R
KT S’ = 4T[R—i—z
48 =0, R=[-

e KR = [, W = L R

2. PRI — A AR 62.50m? IIRHEIE A TRHUKHS B
FIARI R I T AR TR

W BIEHRAGLK N x, BN h,
MAFIHS  x*h=625  h=%S

7K F ) T AR s = x% + 4xh = x? —I—ZIE

% s'=0, fiff3x=5

3/25



2024 F ERIT A ¥ 56264 (&4 FEa) -F (23) F#

HAh = = 2.5

62.5
x2

E: KFERIAKN S, KFEEN 2.5 B, REREHN.

3 [EFER A A O 2] N RIIZTHIEEE Y L, W AR S &l

VEZ4%h PIIAIE 7 NSE N 28 5 e

fie: WEABAREREAR @AH. CEE. &5 LIEREM =M

L? = R? + H?
AF V=mR?H = n(l? — H®)H
RF V' = nl? — 3nH?

’%‘"U’ = Ua %@’T%I: Hzgin RszD

%: H=21, R=""LISEHAEREK.

=5

—. THESE
-1: .— ;dF
1, HEefsgloed

tan x

2. IR

. tanx 1,.. tan x 1 1
fid: lim = ~lim ==.1==
x—0 2x 2x—=0 X 7 2

. sin(x—3)
lim

PRI == 7 =56

w

ﬁ-;fg—: lim sizn{x—.'i) — sin(x—3) =T sin(x—3)
¥r—3 x“=5x+6 x—3 (x=2)(x-3) =3 (x=3)

=1-1=1

4. #& y=2—sinx?, XKy'.
fi: y' =2*In2 — 2x cos x*
5. # y=sin3x+In*, Xy'.

fit: y' = 3c053x+§lnx

. 1
-lim —
¥r—3 x=-2

3/25



PLEAB AR SRR TS, AW RSB —FEHNE.
BERREEA, BiA: https://d. book118. com/41711405402
0006056



https://d.book118.com/417114054020006056
https://d.book118.com/417114054020006056

